# NEW EASY TO COMPUTE FORMULAS FOR THE MOMENTS OF RANDOM VARIABLES APPEARING IN THE COUPON COLLECTOR PROBLEM 

AMAYRANI LEÓN-GARCÍA (Cunduacán), AROLDO PÉREZ (Cunduacán), AND ADDY BOLÍVAR-CIMÉ (CUNDUACÁN)


#### Abstract

Assuming that there are $N$ types of coupons, where the probability that the $i$ th coupon appears is $p_{i} \geqslant 0$ for $i=1, \ldots, N$, with $\sum_{i=1}^{N} p_{i}=1$, we consider the variable $T_{k}$ which represents the number of acquisitions needed to obtain $k \leqslant N$ different coupons, and the variable $Y_{n}$ which represents the number of different coupons obtained in $n$ acquisitions. In the coupon collector problem it is of interest to obtain the expected value of these random variables, as well as their $r$ th moments. We provide new expressions for the $r$ th moments of $T_{k}$ and $Y_{n}$, and we give expressions for their moment generating functions. Unlike known formulas, our formula for the $r$ th moment of $T_{k}$ is given in terms of recursive expressions and that of $Y_{n}$ is given in terms of finite sums, so that they can be easily implemented computationally. Furthermore, our formulas allow obtaining simplified expressions of the first few moments of the variables.


2020 Mathematics Subject Classification: Primary 60C05; Secondary 60E99.

Key words and phrases: coupon collector problem, combinatorial probability, moments, moment generating function.

## 1. INTRODUCTION

The coupon collector problem (CCP) is a classical problem in combinatorial probability. This problem consists in the following: There are $N$ different types of coupons, such as, for example, baseball cards, and we want to obtain the full collection.

The CCP is an ancient problem dating back to De Moivre's treatise De Mensura Sortis of 1712 and Laplace's work Théorie Analytique des Probabilités of 1812 (see [6]). Von Schelling (1954) [15] obtained the expected time to complete a collection in the case of non-equiprobable coupons, and Newman and Chepp
(1960) [13] calculated the expected time to complete two collections of coupons in the case of equiprobable coupons (see [8]).

Some more recent advances, considering non-equiprobable coupons, include: the study of the moments and the distribution of the time required to collect a specific number of types of coupons, as well as the distribution that stochastically minimizes this time (see for example [2, 3]); the asymptotics of the first two moments and the limit distribution of the number of coupons required to complete $m$ collections of $N$ coupons when $N \rightarrow \infty$ (see [6]); the expected time to complete a collection of coupons when coupons arrive in groups of constant size and independently (see [7]); several formulas for the expected number of coupons required to complete one or more collections of $N$ coupons (see [8]); the distribution function, expectation and variance of the number of different coupons that are obtained in $n$ acquisitions, as well as the expected number of coupons required to obtain $k$ different coupons from a subset of the entire collection of coupons (see [16]).

It is important to mention that the coupon collector problem has applications in several areas of science, such as engineering, computing and ecology [4, 11, 16], ranked data analysis [1], and quality control problems [12].

Let us consider $N$ different types of coupons, denoted by $1, \ldots, N$. The coupons arrive one by one in sequence and independently. The probability of randomly acquiring, at any stage, a coupon of type $i$ is $p_{i} \geqslant 0, i=1, \ldots, N$, with $\sum_{i}^{N} p_{i}=1$. In this context, two variables of interest that arise in the coupon collector problem are the random variable that represents the number of acquisitions needed to obtain $k \leqslant N$ different coupons, which we denote by $T_{k}$; and the random variable that represents the number of different coupons obtained in $n$ acquisitions, which we denote by $Y_{n}$.

Letting $C=\{1, \ldots, N\}$, for any nonempty set $A \subset C$ we define

$$
p_{A}:=\sum_{i \in A} p_{i}
$$

where $p_{\emptyset}:=0$. Also, we denote by $|A|$ the number of elements in the set $A$.
In [2, Theorem 1] it was shown that for any integer $n \geqslant 0$,

$$
\begin{equation*}
P\left(T_{k}>n\right)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1 \mid} p_{A}^{n}, \quad k=1, \ldots, N \tag{1.1}
\end{equation*}
$$

and that for $r \geqslant 1$, the $r$ th moment of $T_{k}$ is given by

$$
\begin{equation*}
E\left(T_{k}^{r}\right)=\sum_{l=0}^{r-1}\binom{r}{l} \sum_{n=0}^{\infty} n^{l} P\left(T_{k}>n\right) \tag{1.2}
\end{equation*}
$$

Letting $r=1$ in (1.2) it follows that the first moment of $T_{k}$ is given by

$$
\begin{equation*}
E\left(T_{k}\right)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} \frac{1}{1-p_{A}} \tag{1.3}
\end{equation*}
$$

However, in [2], expression (1.2) was not evaluated for $r>1$. See also [9, 16] for expression (1.3).

In the present paper we provide a new expression for the $r$ th moment of $T_{k}$ (see (2.8), which is easily computed since it is in terms of recursive expressions, and taking $r=1$, we recover (1.3). Also, taking $r=2$ and $r=3$, we obtain simplified expressions of the second and third moments of $T_{k}$. Moreover, we provide an expression of the moment generating function of $T_{k}$ (see 2.11).

As for the random variable $Y_{n}$, in [16] its distribution function was given:

$$
\begin{equation*}
P\left(Y_{n} \leqslant k\right)=\sum_{A \subset C,|A| \leqslant k}(-1)^{k-|A|}\binom{N-|A|-1}{k-|A|} p_{A}^{n}, \quad k=1, \ldots, N \tag{1.4}
\end{equation*}
$$

and also its first and second moments:

$$
\begin{align*}
& E\left(Y_{n}\right)=N-\sum_{i=1}^{N}\left(1-p_{i}\right)^{n}  \tag{1.5}\\
& E\left(Y_{n}^{2}\right)=2 \sum_{1 \leqslant i<j \leqslant N}\left(1-p_{i}-p_{j}\right)^{n}-(2 N-1) \sum_{i=1}^{N}\left(1-p_{i}\right)^{n}+N^{2} \tag{1.6}
\end{align*}
$$

In the present work we give an expression for the $r$ th moment of $Y_{n}$ in terms of finite sums (see (3.3) and also (3.6) if $1 \leqslant r \leqslant N-1$ ), from which we recover (1.5) and (1.6) for $r=1$ and $r=2$, respectively. Additionally, taking $r=3$, we obtain a simplified expression of the third moment of $Y_{n}$. Furthermore, we provide an expression for the moment generating function of $Y_{n}$ (see 3.7).

The expressions of the moments of these random variables can be easily implemented computationally, so the moments of any order can be calculated.

Next we describe how this work is divided. In Section 2 we find the probability mass function of $T_{k}$, and through it we obtain an expression for its $r$ th moment and its moment generating function. In Section 3, through the distribution of $T_{k}$, we obtain the probability mass function of $Y_{n}$, which we use to obtain an expression for its $r$ th moment and its moment generating function.

## 2. NUMBER OF ACQUISITIONS NEEDED TO OBTAIN $k$ DIFFERENT COUPONS

Recall that the random variable $T_{k}$ represents the number of acquisitions needed to obtain $k \leqslant N$ different coupons.

Using (1.1), we find that the probability mass function of $T_{k}$ is

$$
\begin{align*}
P\left(T_{k}=n\right) & =P\left(T_{k}>n-1\right)-P\left(T_{k}>n\right)  \tag{2.1}\\
& =\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} p_{A}^{n-1}\left(1-p_{A}\right)
\end{align*}
$$

for $n=1,2, \ldots$.

In order to have finite moments and the existence of the moment generating function of $T_{k}$ we need to assume that $p_{i}>0$ for $i=1, \ldots, N$ with $\sum_{i=1}^{N} p_{i}=1$. To obtain a general formula for the moments of $T_{k}$, we will use the equality

$$
\begin{align*}
\sum_{n=1}^{\infty} n^{r+1} q^{n} & =\sum_{j=0}^{r}\binom{r}{j}\left(\sum_{k=0}^{\infty} k^{j} q^{k}\right)\left(\sum_{n=1}^{\infty} n^{r-j} q^{n}\right)  \tag{2.2}\\
& =\left(\sum_{k=0}^{\infty} q^{k}\right)\left(\sum_{n=1}^{\infty} n^{r} q^{n}\right)+\sum_{j=1}^{r}\binom{r}{j}\left(\sum_{k=1}^{\infty} k^{j} q^{k}\right)\left(\sum_{n=1}^{\infty} n^{r-j} q^{n}\right),
\end{align*}
$$

valid for any real $q$ with $|q|<1$ and any nonnegative integer $r$ (see [14, p. 199]).
Now, for any real $q$ with $|q|<1$ and any nonnegative integer $r$, let

$$
\begin{equation*}
D(r, q):=\sum_{n=1}^{\infty} n^{r} q^{n} \tag{2.3}
\end{equation*}
$$

It is known that $D(0, q)=q /(1-q)$ and $D(1, q)=q /(1-q)^{2}$. Furthermore, from (2.2) we find that

$$
\begin{equation*}
D(r+1, q)=\frac{D(r, q)}{1-q}+\sum_{j=1}^{r}\binom{r}{j} D(j, q) D(r-j, q) \tag{2.4}
\end{equation*}
$$

for any positive integer $r$. Observe that formula (2.4) is also valid for $r=0$ if $\sum_{j=1}^{0}$ is understood to be zero.

Now, define

$$
G(r, q)= \begin{cases}\frac{1-q}{q} D(r, q) & \text { if } 0<|q|<1  \tag{2.5}\\ 1 & \text { if } q=0\end{cases}
$$

for all $r=0,1,2, \ldots$ It follows that if $0<|q|<1$, then

$$
\begin{equation*}
G(0, q)=1, \quad G(1, q)=\frac{1}{1-q} \tag{2.6}
\end{equation*}
$$

and from (2.4), for $r \geqslant 1$,

$$
\begin{align*}
G(r+1, q) & =\frac{1-q}{q} D(r+1, q)  \tag{2.7}\\
& =\frac{1}{1-q} G(r, q)+\frac{q}{1-q} \sum_{j=1}^{r}\binom{r}{j} G(j, q) G(r-j, q)
\end{align*}
$$

Using the above expressions, we obtain the following result for the moments of the random variable $T_{k}$.

THEOREM 2.1. For any positive integer $r$, the rth moment of the random variable $T_{k}$ is given by

$$
\begin{equation*}
E\left(T_{k}^{r}\right)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} G\left(r, p_{A}\right) \tag{2.8}
\end{equation*}
$$

Proof. From (2.1) we get

$$
\begin{aligned}
E\left(T_{k}^{r}\right)= & \sum_{n=1}^{\infty} n^{r} P\left(T_{k}=n\right) \\
= & \sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1}\left(1-p_{A}\right) \sum_{n=1}^{\infty} n^{r} p_{A}^{n-1} \\
= & (-1)^{k-1}\binom{N-1}{k-1} \\
& +\sum_{A \subset C, 1 \leqslant|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1}\left(1-p_{A}\right) \sum_{n=1}^{\infty} n^{r} p_{A}^{n-1}
\end{aligned}
$$

Thus, (2.8) follows using (2.3) and (2.5).
Using (2.6), formula (1.3) for the first moment of $T_{k}$ follows from (2.8) by taking $r=1$. Now, letting $r=2$ and $r=3$ in (2.8) we obtain, using (2.6) and (2.7), the next simplified expressions for the second and third moments of $T_{k}$ (which we have not found in the literature):

$$
\begin{align*}
& E\left(T_{k}^{2}\right)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} \frac{1+p_{A}}{\left(1-p_{A}\right)^{2}}  \tag{2.9}\\
& E\left(T_{k}^{3}\right)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} \frac{1+4 p_{A}+p_{A}^{2}}{\left(1-p_{A}\right)^{3}} \tag{2.10}
\end{align*}
$$

Alternatively, the moments of $T_{k}$ can be obtained by differentiating its moment generating function, whose expression we provide in the following theorem.

THEOREM 2.2. The moment generating function of the random variable $T_{k}$ is given by

$$
\begin{equation*}
M_{T_{k}}(t)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} \frac{\left(1-p_{A}\right) e^{t}}{1-e^{t} p_{A}} \tag{2.11}
\end{equation*}
$$

for all $t<\min _{A \subset C, 1 \leqslant|A| \leqslant k-1}\left\{-\log p_{A}\right\}$.

Proof. Using (2.1) we have

$$
\begin{align*}
& M_{T_{k}}(t)=\sum_{n=1}^{\infty} e^{t n} P\left(T_{k}=n\right)  \tag{2.12}\\
= & \sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1}\left(1-p_{A}\right) \sum_{n=1}^{\infty} e^{t n} p_{A}^{n-1} \\
= & (-1)^{k-1}\binom{N-1}{k-1} e^{t} \\
+ & \sum_{A \subset C, 1 \leqslant|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1}\left(1-p_{A}\right) e^{t} \sum_{n=1}^{\infty} e^{t(n-1)} p_{A}^{n-1}
\end{align*}
$$

Now, if $t<\min _{A \subset C, 1 \leqslant|A| \leqslant k-1}\left\{-\log p_{A}\right\}$ then $0<e^{t} p_{A}<1$ and thus

$$
\begin{equation*}
\sum_{n=1}^{\infty} e^{t(n-1)} p_{A}^{n-1}=\frac{1}{1-e^{t} p_{A}} \tag{2.13}
\end{equation*}
$$

for all $A \subset C$ with $1 \leqslant|A| \leqslant k-1$. Therefore, (2.11) follows from (2.12) and (2.13).

As mentioned before, we can recover expressions (1.3) and (2.9) also using the moment generating function of $T_{k}$, given in Theorem 2.2. To do this, we define

$$
h(t)=\frac{e^{t}}{1-e^{t} p_{A}}
$$

Then

$$
\lim _{t \rightarrow 0} h^{\prime}(t)=\frac{1}{\left(1-p_{A}\right)^{2}} \quad \text { and } \quad \lim _{t \rightarrow 0} h^{\prime \prime}(t)=\frac{1+p_{A}}{\left(1-p_{A}\right)^{3}}
$$

Hence

$$
E\left(T_{k}\right)=\lim _{t \rightarrow 0} M_{T_{k}}^{\prime}(t)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} \frac{1}{1-p_{A}}
$$

which is the same expression as in (1.3), and

$$
E\left(T_{k}^{2}\right)=\lim _{t \rightarrow 0} M_{T_{k}}^{\prime \prime}(t)=\sum_{A \subset C,|A| \leqslant k-1}(-1)^{k-|A|-1}\binom{N-|A|-1}{k-|A|-1} \frac{1+p_{A}}{\left(1-p_{A}\right)^{2}}
$$

as in (2.9).
REMARK 2.1. Note that the expressions for the derivatives of $h(t)$ become more and more complex, hence it is difficult to obtain high-order moments of $T_{k}$ by differentiating the moment generating function. However, formula (2.8) makes it easy to compute the moments of $T_{k}$ of any order, since it uses recursive expressions. Furthermore, (2.8) can be implemented computationally for given values of $r, N, k$ and $\left(p_{1}, \ldots, p_{N}\right)$.

REMARK 2.2. In [2] a slightly more general model is considered, namely, one supposes that $\sum_{i=1}^{N} p_{i} \leqslant 1$ and defines $p_{0}=1-\sum_{i=1}^{N} p_{i}$. This means that there is a null coupon, denoted by 0 , which is drawn with probability $p_{0}$, but which does not belong to the collection. Under this assumption, $T_{k}$ is the number of coupons that need to be drawn from the set $\{0,1, \ldots, N\}$, with replacement, until we first obtain a collection composed of $k$ different coupons, $1 \leqslant k \leqslant N$, among $\{1, \ldots, N\}$. In this case, for the tail of the distribution of $T_{k}$ we have (1.1) with $p_{A}$ replaced by $p_{0}+p_{A}$ (see [2, Theorem 1]). Therefore, by analogous arguments to those of the proofs of our Theorems 2.1 and 2.2, we find that the $r$ th moment and the moment generating function of $T_{k}$ are given by (2.8) and (2.11), respectively, with $p_{A}$ replaced by $p_{0}+p_{A}$.

## 3. NUMBER OF DIFFERENT COUPONS OBTAINED IN $n$ ACQUISITIONS

Recall that the random variable $Y_{n}$ represents the number of different coupons obtained in $n$ acquisitions. Using

$$
\begin{align*}
P\left(Y_{n}=k\right) & =P\left(Y_{n} \leqslant k\right)-P\left(Y_{n} \leqslant k-1\right)  \tag{3.1}\\
& =P\left(T_{k+1}>n\right)-P\left(T_{k}>n\right),
\end{align*}
$$

where $P\left(T_{k+1}>n\right)=1$ for $k=N$, we find that the probability mass function of $Y_{n}$ is

$$
\begin{equation*}
P\left(Y_{n}=k\right)=\sum_{A \subset C,|A| \leqslant k}(-1)^{k-|A|}\binom{N-|A|}{k-|A|} p_{A}^{n} \tag{3.2}
\end{equation*}
$$

for $k=0,1, \ldots, N$ (see [16, formula (3.3)]). From (3.2) it follows that the distribution function of $Y_{n}$ is given by (1.4).

In our next theorem we provide a general formula for the moments of $Y_{n}$.
THEOREM 3.1. For any positive integer $r$, the rth moment of the random variable $Y_{n}$ is given by

$$
\begin{equation*}
E\left(Y_{n}^{r}\right)=\sum_{k=1}^{N}\left(\sum_{i=0}^{N-k}(-1)^{i}\binom{N-k}{i}(i+k)^{r}\right) \sum_{A \subset C,|A|=k} p_{A}^{n} . \tag{3.3}
\end{equation*}
$$

Proof. Using (3.2) we have

$$
\begin{aligned}
E\left(Y_{n}^{r}\right) & =\sum_{k=1}^{N} k^{r} P\left(Y_{n}=k\right) \\
& =\sum_{A \subset C,|A| \leqslant N} \sum_{k=|A|}^{N} k^{r}(-1)^{k-|A|}\binom{N-|A|}{k-|A|} p_{A}^{n},
\end{aligned}
$$

which, letting $i=k-|A|$, gives

$$
\begin{aligned}
E\left(Y_{n}^{r}\right) & =\sum_{A \subset C,|A| \leqslant N} \sum_{i=0}^{N-|A|}(i+|A|)^{r}(-1)^{i}\binom{N-|A|}{i} p_{A}^{n} \\
& =\sum_{k=1}^{N} \sum_{A \subset C,|A|=k} \sum_{i=0}^{N-k}(-1)^{i}(i+k)^{r}\binom{N-k}{i} p_{A}^{n} \\
& =\sum_{k=1}^{N}\left(\sum_{i=0}^{N-k}(-1)^{i}\binom{N-k}{i}(i+k)^{r}\right) \sum_{A \subset C,|A|=k} p_{A}^{n} .
\end{aligned}
$$

Next, we will obtain a simplified expression of (3.3) for $1 \leqslant r \leqslant N-1$.
Let

$$
R_{k, r}:=\sum_{i=0}^{N-k}(-1)^{i}\binom{N-k}{i}(i+k)^{r} .
$$

We have the following.
Lemma 3.1. Let $k, N, r$ be nonnegative integers. If $k \leqslant N-r-1$, then $R_{k, r}=0$.

Proof. From the binomial theorem it follows that

$$
\begin{align*}
R_{k, r} & =\sum_{i=0}^{N-k}(-1)^{i}\binom{N-k}{i} \sum_{m=0}^{r}\binom{r}{m} i^{m} k^{r-m}  \tag{3.4}\\
& =\sum_{m=0}^{r}\binom{r}{m} k^{r-m} \sum_{i=0}^{N-k}(-1)^{i}\binom{N-k}{i} i^{m} .
\end{align*}
$$

By the well known identity for nonnegative integers $a$ and $b$ (see [5, 10])

$$
\sum_{i=0}^{a}(-1)^{i}\binom{a}{i} i^{b}= \begin{cases}0 & \text { if } b \leqslant a-1  \tag{3.5}\\ (-1)^{a} a! & \text { if } b=a\end{cases}
$$

we have

$$
\sum_{i=0}^{N-k}(-1)^{i}\binom{N-k}{i} i^{m}=0 \quad \text { if } N-k-1 \geqslant m
$$

Note that if $k \leqslant N-r-1$, then

$$
N-k-1 \geqslant r \geqslant m, \quad \forall m=0,1, \ldots, r .
$$

Hence, from (3.4),

$$
R_{k, r}=0, \quad \forall k \leqslant N-r-1
$$

Thus Theorem 3.1 and Lemma 3.1 give us the following result.

COROLLARY 3.1. If $1 \leqslant r \leqslant N-1$, then the $r$ th moment of $Y_{n}$ is given by

$$
\begin{equation*}
E\left(Y_{n}^{r}\right)=\sum_{k=N-r}^{N}\left(\sum_{i=0}^{N-k}(-1)^{i}\binom{N-k}{i}(i+k)^{r}\right) \sum_{A \subset C,|A|=k} p_{A}^{n} . \tag{3.6}
\end{equation*}
$$

Formulas (1.5) and (1.6) are obtained by taking $r=1$ and $r=2$ in (3.6); and letting $r=3$ we obtain the next simplified expression for the third moment of $Y_{n}$ (which we have not found in the literature):

$$
\begin{aligned}
E\left(Y_{n}^{3}\right)= & -6 \sum_{1 \leqslant i<j<k \leqslant N}\left(1-p_{i}-p_{j}-p_{k}\right)^{n}+(6 N-6) \sum_{1 \leqslant i<j \leqslant N}\left(1-p_{i}-p_{j}\right)^{n} \\
& -\left(3 N^{2}-3 N+1\right) \sum_{i=1}^{N}\left(1-p_{i}\right)^{n}+N^{3}
\end{aligned}
$$

Alternatively, the moments of $Y_{n}$ can be obtained by differentiating its moment generating function, whose expression we provide in the following theorem; however, the derivatives become more complex when the order increases.

THEOREM 3.2. The moment generating function of the random variable $Y_{n}$ is given by

$$
\begin{equation*}
M_{Y_{n}}(t)=\sum_{k=1}^{N} e^{t k}\left(1-e^{t}\right)^{N-k} \sum_{A \subset C,|A|=k} p_{A}^{n}, \quad-\infty<t<\infty \tag{3.7}
\end{equation*}
$$

Proof. Using (3.2) we have

$$
M_{Y_{n}}(t)=\sum_{k=1}^{N} e^{t k} P\left(Y_{n}=k\right)=\sum_{A \subset C,|A| \leqslant N}\left(\sum_{k=|A|}^{N} e^{t k}(-1)^{k-|A|}\binom{N-|A|}{k-|A|}\right) p_{A}^{n}
$$

Letting $i=k-|A|$ and applying the binomial theorem gives

$$
\begin{aligned}
M_{Y_{n}}(t) & =\sum_{A \subset C,|A| \leqslant N}\left(\begin{array}{c}
N-|A| \\
\left.\sum_{i=0}^{t(i+|A|)}(-1)^{i}\binom{N-|A|}{i}\right) p_{A}^{n} \\
\end{array}=\sum_{A \subset C,|A| \leqslant N} e^{t|A|}\left(\begin{array}{c}
N-|A| \\
\left.\sum_{i=0}\left(-e^{t}\right)^{i}\binom{N-|A|}{i}\right) p_{A}^{n} \\
\end{array}=\sum_{A \subset C,|A| \leqslant N} e^{t|A|}\left(1-e^{t}\right)^{N-|A|} p_{A}^{n}\right.\right. \\
& =\sum_{k=1}^{N} \sum_{A \subset C,|A|=k} e^{t k}\left(1-e^{t}\right)^{N-k} p_{A}^{n} \\
& =\sum_{k=1}^{N} e^{t k}\left(1-e^{t}\right)^{N-k} \sum_{A \subset C,|A|=k} p_{A}^{n} .
\end{aligned}
$$

Acknowledgments. The authors thank the Associate Editor and the anonymous reviewer for their comments and valuable suggestions, which helped to improve the final version of this paper.

## REFERENCES

[1] S. Aki and K. Hirano, Coupon collector's problems with statistical applications to rankings, Ann. Inst. Statist. Math. 65 (2013), 571-587.
[2] E. Anceaume, Y. Busnel and B. Sericola, New results on a generalized coupon collector problem using Markov chains, J. Appl. Probab. 52 (2015), 405-418.
[3] E. Anceaume, Y. Busnel, E. Schulte-Geers and B. Sericola, Optimization results for a generalized coupon collector problem, J. Appl. Probab. 53 (2016), 622-629.
[4] A. Boneh and M. Hofri, The coupon-collector problem revisited - a survey of engineering problems and computational methods, Stoch. Models 13 (1997), 39-66.
[5] K. N. Boyadzhiev, Close encounters with the Stirling numbers of the second kind, Math. Mag. 85 (2012), 252-266.
[6] A. V. Doumas and V. G. Papanicolaou, The coupon collector's problem revisited: generalizing the double Dixie cup problem of Newman and Shepp, ESAIM Probab. Statist. 20 (2016), 367399.
[7] M. Ferrante and N. Frigo, A note on the coupon-collector's problem with multiple arrivals and random sampling, arXiv:1209.2667 (2012).
[8] M. Ferrante and M. Saltalamacchia, The coupon collector's problem, Materials Mathemàtics, Univ. Autònoma de Barcelona 2014, art. 2, 35 pp.
[9] P. Flajolet, D. Gardy and L. Thimonier, Birthday paradox, coupon collectors, caching algorithms and self-organizing search, Discrete Appl. Math. 39 (1992), 207-229.
[10] H. W. Gould, Euler's formula for nth differences of powers, Amer. Math. Monthly 85 (1978), 450-467.
[11] J. E. Kobza, S. H. Jacobson and D. E. Vaughan, A survey of the coupon collector's problem with random sample sizes, Methodol. Comput. Appl. Probab. 9 (2007), 573-584.
[12] S. N. Luko, The "coupon collector's problem" and quality control, Quality Engrg. 21 (2009), 168-181.
[13] D. J. Newman and L. Shepp, The double dixie cup problem, Amer. Math. Monthly 67 (1960), 58-61.
[14] C. E. G. Pineda, S. M. García and L. E. O. Acevedo, La serie geométrica y su derivada, Scientia et Technica 17 (2011), 196-200.
[15] H. von Schelling, Coupon collecting for unequal probabilities, Amer. Math. Monthly 61 (1954), 306-311.
[16] N. Zoroa, E. Lesigne, M. J. Fernández-Sáenz, P. Zoroa and J. Casas, The coupon collector urn model with unequal probabilities in ecology and evolution, J. Roy. Soc. Interface 14 (2017), art. 20160643, 14 pp.

Amayrani León-García, Aroldo Pérez, Addy Bolívar-Cimé
División Académica de Ciencias Básicas
Universidad Juárez Autónoma de Tabasco
CP. 86690, Cunduacán, Tabasco, Mexico
E-mail: amayleongarcia@gmail.com
aroldopz2@gmail.com
addy.bolivar@gmail.com

